Name: Date:

Estimating Differences

Use your own strategies to estimate diﬂ’erences.]

1. Joshua and his friends are raising money for a
_school trip. Each class needs $3ﬂﬂﬂ‘. The chart ere aré Soeme wans 10 A
shows how much each class has raised. estimate differences.
Money _ ¢ Use base ten blocks or
Class raised Money still needed counters to model the
problem.
Joshua's class $1047 » Use a number line to model
, the problem.
Chu Leers class $2516 * Estimate by subtracting the
Nicola's class $517 : closer hundreds or
. : ~ thousands (e.g., 1130 is
ﬁﬁ Desmond’s class $1ggﬂ . closer to 1000 than 2000). )
Heiko's class $2905
Sandra’s class $989

a) Estimate the amount of money each class still needs.
Record your answers in the chart.

b) How did you estimate the differences?

2. 290 cm is cut from a 510 cm ribbon.
About how many centimetres long is the ribbon now?

3. There are 7100 people in Petrock Town. 3900 are adults.
About how many are children?

2
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Estimating

| Rounding

Ei Directions: Round these numbers to the nearest ten,
s 18 33 82 56

24 49 91 67

Directions: Round these numbers to the nearest hundred.

243 689 263 162
389 720 351 490
463 846 928 733

Directions: Round these numbers to the nearest thousand,

2,638 3.940 8.653 4
6.238 1,429 5,061
7,289 2,742 9460
3,109 4,697 8,302

Directions: Round these numbers to the nearest ten thousand.

11,368 38,421
75,302 67,932
14,569 49,926
93.694 81,648
26,784 8?,065
97,843 29,399

_ N
\‘
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Name: _ _ Date:

* You can subtract by adding on.
To calculate 37 — 18, think of 18 + & = 3/.

+ 2 + 10 + 7
0 1820 30 a7
Remember
Stop at friendly numbers along the way. + Sometimes it is
gasier to sublract
18 +@+1D+‘@: 37 different paris of a

18 + @ — 37 number one ot
time.
So,37 — 18 =19

Try These
1. Circle the best estimate. Explain how you estimated.

possible estimates

a) 88 — 39 30 4o 50
b) U8 — 20 20 30 40
c) 91 — 38 50 60 70

EE—————————

2. Estimate each difference. Explain your thinking.

a) 58 — 17 is about _

b) 37 — 25isabout .

—m o

c) 36 — 29 is about

Copyright © 2011 by Nelson Education Ltd. Leops and Bounds Sublracting Numbers to 100, Pathwoy 2 o



Nome:

3. You can calculate 64 — Y49 using a 100 chart.

Subtract in parts starting at 64.
To subtract 40, go up 4 rows.

To subtract 9, go up 1 row and right 1
to subtract 10 and then add back 1.

64 — 49 = 15

Use the 100 chart to subtract.

Use a different colour for each subtraction.

a) 22 - 11 =
b) 65 - 24 =

4. What is the difference in price?

¢) 65 — 26 =
d) 72 - 17 =

Solve the problem. Show your work.

F o

T S R ey i e

&

5. Show 2 ways to complete each subftraction.

a) 4g - 7

i
i

e Sublracting Numbers to 100, Pathway 2

Leaps and Bounds

Date:

112|3|a|5|6|7!8/91w0
11[12]13]14)95]16 |17 | 18] 19| 20
21[22|23 {24425 | 26|27 | 28] 29 20
31|32|33)| 24435 | 36| 37| 38 | 39 | 20
41424344345 46| 47 | 48] 40] 50
515625354455 56| 57 | 58| 59| 60
6162 |63 (64) 65|66/ 67 | 68|69 70
71|72|73{74|75|76| 77| 78|79 | 80
8182|8384 |85|86|87 88|80 00
91|92 /93|94 |95|96|97 |8s| 099|100

Copyright © 2011 by Nelson Education Ltd.
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Name:_ Date:

* You can subtract by adding on. & _ ;.,1 -
To calculate 37 — 18, think of 18 + & = 37. - U‘b'frﬂc.-f O“,r’“\

+2 + 10 + 7
/ N B
VY ) Lessen 6 eshmating
F — i i b
0 1820 30 37 Remember
Stop at friendly numbers along the way. o Bamativngs if s
easier fo subtract
18 +(2 + 10 + 7)= 37 different parts of o
18 + 19 = 37 number one at @

time.
S0,37 — 18 =19 |

Try These

1. Circle the best estimate. Explain how you estimated.

possible esfimates 30" 30:50
u) 88 — 3‘? ' 30 4o QO_ }7‘0:
9or—HO0= ‘50 50

b) 4§ - 20 0, 30 0
HO =L0= A0 o DO =20=20
c).91 ~38 50 @ 70

90 -30= O 100 = 4O = 00

2. Estimate each difference. Explain your thinking.

a) 38 — 17 is about ﬁf_O_

- Bo-=-20= 20 lo—20= 40  Fp-10=4HO
h) 37 —25isabout_ | .

Ho-230={0 30 -20=10
c) 36 — 39 is about S ;

30-207° 1O HO == 1D

Copyright © 2011 by Nelson Education Ltd. Leaps and Bounds Sublrocting Numbars to 100, Pathway 2 0



Name:

3.

You can calculate 64 — 49 using a 100 chart. 6171al9 w0
Subtract in parts starting af 64
) Gy17{18| 18| 20
To subtract 40, go up Y rows. 20|27 281291 20 "
To subtract 9, go up 1 row and right 1 3837|3839 40
fo subtract 10 and then add back 1. 46147 {48149 50
64 — 49 = 15 56|57 |58|59| 60
Use the 100 chart to subiract. ad ol 67|68]69 70
Use a dlff rent colour for each subtraction. T1]72178]74|75|76]77 | 78|79 80
B1|82 83|84 185|8687 8688|8990
quE—H—-__“ c}65—26=f220\ 91929394 95/96)97 | 9899100

b) 65 24 “ d) 72 - 17 = 55

What is the difference in price?
Solve the problem. Show your work.

58-33=|35

0 = 20=40
' (8

Show 2 ways fo complete each subtraction. |
100 ot

a) 48 - 7 |

E’Shmaﬂré’, T Estimad@ g7 =1
50 - /= Lr3 HE *‘/0-—38

| (Eshmode [ Eshmode - 75-37=39

!{20_%”40§ /0 = 30740
8 | i 'S

@ Sublracting Numbers to 100, Polhway 2 Leaps ond Bounds Copyright © 2011 by Nelson Education Ltd.



8 Name: ___Mﬁ /CQM " Date: d
"'T"e".‘""ﬁ"r-fl ‘

J
e Subtracting Numbers Clo.j;e to
| 7 Hundreds or Thousands

I Use mental math to subtract.

\

1. Use mental math to calculate. Show your work. w
The first one is done for you.

- To subtract, add to the imaller\?
a) 1000 — 197 = __ 303 | number until you reach the |
o cmm 4 9A0 = 0 | greater number. For example:
197 + 2 + 800 = 1000 s0 3 + 200 = 303 1904 — 897 =
Y.
b) 2000 — 498 = __\ S0 This is the same as
4 To reach 1904, add numbers
c) 1000 — 299 = 10\ | to 897:
o * 897 = 3 = 900
i = o
\GOG BDD 1 o +\ S00 + 1000 = 1900
r + 4 =
d) 5000 — 3996 + \oOY% 1900 + 4 = 1903
Scoo —Hoos = 1006 ¥4 -
) EE;- 49‘51_ ] 03 “ g7 200 1500 1904
y a ' + ! The difference is
oo - 500 = 100 5 3+ 1000 + 4 = 1007. |
-b +1 —
) 4006 —2008=_\OO7
- Rpooo= 10 ol Cha
_Ho0O0o o o 4aqa +|
2. A library has 5000 books. 1997 are on loan.
How many books are left in the library? - g = 'I
X4 o —
5000 — \ag7> = 3°93 2002+
FH—H\\
/7 Red%
500{3 —-_ AD00 T SO0 53 ~=
— = 005 2600

\
l |
Zooo Zocd oo 0

24 Nelson Math Focus 4 Copyriaht © 2008 by Nelson Edlcation Lid.




Subtracting Mentally

1. Add the same number to each number to make
subtracting easier. Record only the answer,

a) 56 — 13.2 KR —-20=3%
b) 51—19=L£_L4/
V3 47-20= /7

c) 45 28 =

d) o A Ba=~4907 )3

Develop mental math strategies for subtracting
2-digit numbers.

)

| ,;l'.'..l

| 5
o

wu
o

At-Home Help

Adding the same number to each
number in a subtraction question
does not change the answer.
64+2 —
“1+2 — - 3

8

5

Adding the same number can
sometimes make it easier to

biract.

o+ - =

e) 32 -9= _33:&&3 37+2 —» 390
+i& & —18+2 —= —-20

f) 75-49=_Zlo—50="32
9183—25 ‘5_39_“55
*2 420 (27 ___50:-_ 17

h) 65 — 48 =
Use mental math to solve each problem.

33

a) Itis 33°C in one town and 9°C in another town.

What is the O%ffere
O +4

b) Licorice costs 62 cents. Gumballs cost 39 cents.
How much more does the licorice cost than the gumballs'?

@o 40= 2o0+3 =

*\
c) 19 cm is cut from a 51 cm ribbon.
How many centimetres long is the ribbon now?

in temperature between the tr:n WOS 2 e

Bl—la= 3V

19

37 - 18 =39 — 20
=19

—

2

| ZR
t3) - ]
-3 9 pzf

5o—=20=230 +3 =

+H
gre are 71 students in grade 4.
39 are girls. How many students are boys?

d)

11— 39= 32

10— 4D = 20 ¥2 =33 er

|
34 Addition and Subtraction
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" Name: ____

Date:

Peon

! Use mental math to subtract.

.

1. Use mental math to calculate. Show your work.
The first one is done for you.

a) 1000 — 197 = __ 303
197 + 3+ 300 =1000,s02 + 300 =

b) 2000 — 498 =

¢) 1000 — 298 =

d) 5000 — 3996 =

e) 602 — 499 =

f) 4006 — 2998 =

2. A library has 5000 books. 1997 are on loan.
How many books are left in the library?

24 Nelson Math Focus 4

Subtracting Numbers Close to

a ' Ty

To subtract, add to the smaller 3
| number until you reach the
| greater number. For example:
| 1904 — 897 =

r This is the same as
B97 + = 1904

To reach 1904, add numbers |
' to 897: |
897 + 3 = 900
900 + 1000 = 1900
1500 + 4 = 1904

+3 +1000 )

T

e e - —
897 900 1900 1904

The difference is
L:-'. + 1000 + 4 = 1007.

.

Copyright © 2008 by Nelson Educationiid.



Subtracting Mentally

Develop mental math strategies for subtracting
2-digit numbers.

1. Add the same number to each number to make At-Home Help
subtracting easier. Record only the answer.

Adding the same number to each
B N number in a subtraction question
a) 56 — 18 = _ ' does not change the answer.
6+2 —= B8
h’] E-I - 19:._ - ___l"l'E"—h":_ﬁ
. 5 5
c) 45 -28 = _
Adding the same number can
d) 51 — 39 = _ _ sometimes make it easier to
subtract.
e) 32 -9 = : 37+2 = 39
~18 +2 —» -20
g) 83 — 28 — | 3?—15;33—2{::

h) 65 — 48 =

2. Use mental math to solve each problem.

a) Itis 33°C in one town and 9°C in another town.
What is the difference in temperature between the towns?

-

b) Licorice costs 62 cents. Gumballs cost 39 cents.
How much more does the licorice cost than the gumnballs?

¢) 19 cm is cut from a 51 cm ribbon.
How many centimetres long is the ribbon now?

d) There are 71 students in grade 4.
39 are girls. How many students are boys?

34 Addition and Subtraction Copyright © 2017 by Nelsin Educatk



o Name: Date: e

3.8 Regrouping before Subfracting Page 1

Student Book pages 88-90
@ You will need
Solve subtraction problems by regrouping first. * bosefen  §=.
p y regrouping ) e U
Problem «aplace  EEEEET=
A video store has 457 DVDs. value chart )_j

148 DVDs have been rented.

@ How many DVDs are left at the video store?

Make a model to solve the problem.

Step 1: Model 457 with base ten blocks.
This step has been done for you.

/" Hundreds Tens Ones I
T Rrin
11418

/ ...--=~=°“""-----..;.-a--""'“'---._.---"'‘--3L

:-'." FEn AL R T T ]

ARy TS AL

P Ea D BIEE AN
L £

Step 2: Compare the numbers column by column.
Do you need to regroup to subiract 1 hundred from 4 hundreds?

Do you need to regroup fo subtract 4 tens from 5 tens?

Do you need to regroup fo subtract 8 ones from 7 ones?
Trade 1 of the tens for 10 ones.

/“Hundreds Tens Ones | %
T T
EEE% aERa0 ¥ BT !

l 9
/' = =

Copyright & 2008 by Nelson Education Ltd. Learning BLM 3.8: Regrouping before Subtracting I 107 |



o Name: Date:

3.8 Regrouping before Subtracting Page 2

Step 3: Subtract the hundreds, tens, and ones.
Count the blocks that are left.

There are DVDs left at the video store.

~Beflecting

How could you have estimated the number of DVDs that are left at the video store?

1. A video store has 1257 DVDs.

Model 1257 using base ten blocks.
Draw your model in the place value chart.

/ Thousands Hundreds Tens Ones
A

Step 2: Draw your model after regrouping.
7 Thousands Hundreds Tens Ones )
\_ i,
Step 3: Subtract 780. Draw your model after subtracting.
/“Thousands Hundreds Tens Ones \
N

How many DVDs are left at tha viden stara?



= Name: Date;

Regrouping before Subtracting

Solve subtraction problems by regrouping first. ]

1. Calculate by regrouping. At-Home Help
-

a) T d) To help you subtract, you can
I | _! | regroup. For example:
119173 3|l2/3|8
- : —— - 1 14 812
— |5!217 - 1194 24 927
] | -_683
18089
r
b) e * You need more than
|2|5|2|8 68|85 4 hundreds to take away
— | 1/4|6 - 71318 6 hundreds. You can
1 E : regroup 2 thousands
i L 1 4 hundreds as 1 thousand
} 14 hundreds.
c) f) | | * You need more than 2 ones
'5[1/3]8 BRE 187 to take away 3 ones. You
1 al1l0 _ 5148 can regroup 9 tens 2 ones
! | as 8 tens 12 ones.
| | | \ /
2. Calculate using regrouping or mental math.
a) 3001 — 1999 = ¢) 5008 — 2997 =

b) 1875 — 1364 = d) 2738 — 342 =

Copyright © 2008 by Nelson Education Ltd. Chapter 3: Addition and Subtraction 25



Subtracting from 4-Digit Numbers

Use a paper and pencil method to subtract from a
4-digit number.

At-Home Help
1. Estimate the difference. Then subtract.

You can subtract larger numbers
Show your work. by regrouping the top number in

a) 3234 d) 8129 several steps.
- 533 — 411 0135%
1366
—~ 448
918
b) 2045 e) 1566 The answer seems reasonable
— 1238 — 807 because 1400 — 400 = 1000

and 918 is close to 1000.

c) 2000 f) 5003
— 621 — 347

2. Estimate and solve.

a) The average yearly precipitation (rain and snow) in Toronto is 819 mm.
The greatest average yearly precipitation in Canada is 6655 mm in
Henderson Lake, B.C. What is the difference in precipitation between
Henderson Lake and Toronto?

b) Atown has 1100 adults. 589 are women. How many men are there?

¢) A school is trying to raise $1000 for a charity. $795 has already
been raised. How much more money must the school raise?

36 Addition and Subtraction Copyright © 2017 by Nelson Education Lt



o Name: _ Date:

3.8 Regrouping before Subtracting Page 1
Student Book poges 88-%0

You will need
Solve subltraction problems by regrouping first. j « base ten

blocks

Problem + a place

A video store has 457 DVDs. value chart

148 DVDs have been rented.
@ How many DVDs are left at the video store?

Make a model to solve the problem.

Step 1: Model 457 with base ten blocks.
This step has been done for you.

/" Hundreds Tens Ones )
_ ‘ : ' aagaaal | | . \
| ifst7l 1
TECRSTEE ":i' ;_- L | ] - 1 lll—q 3 ]
s o I 4 =~ T | |
e Bhie g f o |
n : | . 3 _//,
Step 2: Compare the numbers column by column. |
Do you need to regroup 10 subtract 1 hundred from 4 hundreds? ’ iO

Do you need to regroup to subtract 4 tens from 5 tens? _ Y\ (D

Do you need to regroup fo subfract 8 ones from 7 ones? 5’25_‘1
Trade 1 of the tens for 10 ones.

/" Hundreds Tens Ones l Vi
EREEEE L X
EEEE agoaa lf j';ri
] = 1;{_._84_ |
3109
_/ I

Copyright © 2008 by Nelson Education Ltd. Learning BLM 3.8: Regrouping before Subtmacting | 107 |



° Name: Date:

3.8 Regrouping before Subtracting Poge 2

Step 3: Subtract the hundreds, tens, and ones.

~joo © 350
Count the blocks that are left. Lf ‘;0 i
— Jo0
There are 50q DVDs left at the video store. ’7 /—\’
_Reflecting 250 450

|
How could you have estimated the number of DVDs that are Ieﬁ at the video store?

?\O'-.lﬂd “'0 dr€d9 Frant f‘ﬂd L{ef_’['ﬁ! Hfﬂ'h
yH1-149- 400-100"300 | "150-j00= 350
— o= 100z YOO

1. A video store has 1257 DVDs.

Model 1257 using base ten blocks. | Q 57 e Eg Lf‘g:
Draw your model in the %Ilu e chart. _ ot 81 &
. f-v P ¢ 8
/ Thousands Tens Ones
- | 0 I
Gt ¥ =2
\_ J
== Step 2: Draw your model after regrouping. (g
/Thousands Hundreds Tens Ones (3 LJ'
I/H’T K v Z—I O ?
L N T S |
- : ; /
Step 3: Subtract 780. Draw your model after subtracting.
/ Thousands Hundreds Tens Ones
[Hgu - "ol
| @ 0 0 @
s : 2B,

How many DVDs are left at tha vidan stara?



Name: Date:

~ s} Regrouping before Subtracting

’ Solve subtraction problems by regrouping first. ]

1. Calculate by regrouping. At-Home Help
e Ok | A

: To help you subtract, you can
I m a) | &’__B— d) l |3 _ regroup. For example:
I 1]9 |7 3 |23 8
'%GDD — - it 1 14 812
_ | 5 2|7 - | 19| 4 24 927
< ‘::Urjf' ?'iluii TwD.'-}H -~ 6583
- ' 09
g 5?0 _ 18
' b) 4 l&“ e) | ~1 | ] | = You need more than
2\ 7 78 6|8 f 5 4 hundreds to take away
. - 1148 _ e 6 hundreds. You can
‘1 ' regroup 2 thousands
;_a.r‘b %_:& é?' l L! q» 4 hundreds as 1 thousand
B 14 hundreds.
c) U‘ ﬂ f) 2 | 5, \’T * You need more than 2 ones
FAPAEIG AR - to take away 3 ones. You
— al1l0 — >lal8 can regroup 9 tens 2 ones
as 8 tens 12 ones.
. gl G IEIETHICIR 43; J
]D

¥ >
&‘J—;,—E 2. Calculate u5|ng+r1\egmuplng or mental math.

‘%%_i“_ a) 3{:1;5 ~ 1999 = 0OV ¢) 500155 299? 'AUH -:;l‘i 9 7

_19%5 4000~ 4,000= 1000 QU0 = 3000=32000 9\0 f H
{ODI b 1%
b) 1875 — 1364 = 6‘ ! d) 2738 — 342 = X100 :fgs?i
J600 ~ |ood= 100D ?)ﬁnﬁ_ 200 ;;17 w —2

— )85 2376
_ISEP -
51

E):-mﬁgm © 2008 by Nelson Education Ltd. Chapter 3: Addition and Subtraction 25




Subtracting from 4-Digit Numbers

Use a paper and pencil method to subtract from a
4-digit number.

At-Home Help
1. Estimate the difference. Then subtract.

You can subtract larger numbers

Show your work. by regrouping the top number in
a) 9?3584 d) H&g ChECK several steps.
~ 533 — 411 ‘ﬂ 000« OO-‘T 5@3515
276l _' 7 '9 ~ 443
918

b) %ﬁ e) 4‘23&“3 | 500  The answer seems reasonable gt[ﬂ

il 1 because 1400 — 400 = 1000
o0 \/ - 1236 Bﬂ?k -|000 and 918 is close to 1000. | °°°

%ﬁ' ;391 | BT 756 EE
000 & oo f L‘33&%?‘\/ D000 - 3c0= 4700

— 1621 — - 347

T —— s ——

LA T Y | 1631
baee,
2. Estimate and solve.
a) The average yearly precipitation (rain and snow) in Toronto is 819 mm. ﬁ—g g-?

The greatest average yearly precipitation in Canada is 6655 mm in
Henderson Lake, B.C. What is the dlfference In precipitation between

Henderson Lake and Toronto? g J q
7000 - gOnH=— (b 200 5%3(0
N

Sye
b) Atown has 1100 adults. 589 are women. H|c:/rnany men are ’rhusgruee‘?"”""r < 0,

|000= S5c0= B - 5¢7

c) A school is trying to raise $1000 for a charity. $795 has already 5 ’ | (

been raised. How much more money must the school raise?
g'ggiw -
- 200= Q00 - 795
36 Addition and Subtraction [OOO 5 o g - ﬁﬂtvv—‘éam'_




o MName: Date:

3.9 Subtracfing by Renaming Page 1

Student Bock pages 92-93

‘ Use renaming to make subtraction easier. j

Problem
Vera’s class is having a party on the 100th day of school.
Today is the 67th day of school.

T ey

: r 1_ —
1 i 1 [ 5 1
- R _TEJ'_\{ 125 V—— /-.1 rﬂ
— . 1 B
s (o n 2 — “-l-'l‘il:"';"--'!—1';55'l | .

. '
.1' - L‘;Fr.[_——!:. L
EERERES e e ] r RN ) ——
SRR |lﬂ_ﬁj_.—1;1—5 270w w el | T AR RS Y
SRR RE = IR N LEEINTY vy al._.l_E_',f—'_—_l—, .| = -
ey AR N I e A | £ R
— ] 1 1] o i ] - — =
I I
: T
Y §

e How many days are there until the 100th day of school? 5 9\‘
Subtract by renaming to solve the problem.
A
~ |
Step 1: Rename 100 as 99 + 1. () E 0
Q19|+ |1 i
+oT0 (ﬂ 7
_ ‘-__—_-_-_-_._._’______.—-\-
Step 2: Subtract. ?:) ?)
Step 3: Add 1 to the answer.
Hint: You need to add 1 because you renamed 100 as 99 + 1.

)
There are )/13 days until the 100th day of school.

[ 112 | Learning BLM 3.9: Subsracting by Remaming Copyright © 2008 by Nelson Education Ltd.



o Name:

Date:

3.9 Subtracting by Renaming Page 2

_Reflecting

How does renaming make subtmr.:ﬂng eusrer‘? |

14 MOhes S

7] L‘f ‘t“u
]ﬂf‘f ~

==

Write a subtraction question that you could solve by renaming the numbers first.

4. Estimate. Then calculate.

a) 1000 —
1000 -

R

=
435 is about

1000 — 435 =

b) 2000
2000

c) 3000 —

hgaﬁ
— 135 is abo
I

2000 — 435 =

1500 v~

”fL

5

i% is about

760

_:mnn 278 = _2 1A

--.F._—t. o I|I
= T ) '-'I :
=—Store -
Fou
— T } 0
S T
5 ’3‘*— N 5,5
4 LA ﬂ%%géo
RIS e
A

an Education Lid.
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Name: Date:

0 _ Subtracting by Renainiﬁg

@ ANSWLF %
Use renaming to make subtraction easier. ] .

1. Estimate each difference. /c‘}'qq
HoO h

a) 2000 — 385 is about /LoD - :ﬁ,h.-?- To help you subtract, you can
. 60 6 7 *)L rename. For example:
b) 1000 — %-7 is about _ X¥ 0 | want to know 4000 — 2864.
600 "G94 | can rename 4000 as 3999 + 1
c) 3000 — gaﬁ'us about _&_QQD - 97 to make it easier to subtract.
E D f" ' 3999 + 1 :
d) 5000 — i?f is about H700 — 2864
1135 + 1= 1136
2. Subtract by renaming. N - y

a) Q)
2227 pol T 33T el
— 486  lboo5%T - 865 o = )00
5i3*l,/ o 3T3R Howo =%0=210

G .
2 = .
M o Joana—[os" mg + Ez}fltﬁﬁ = E{‘ﬂ‘gnd}

~ 142 S — 298

g5+l [o° .;z—mi +1
3. Subtract. 4 @

a) 4000 — 721 = 3279 ¢) 3000 — 307 = = b33 e) 6000 — 214 = 513(;
2qaq +| 234" ‘éﬁ“
Ji 353\ :

ﬁ E‘E‘Er%*' 7837
b) 1000='192 = _JU& d) 5000 — 536 = Hb4 £ 2000 — 1642 = 353
ggq+; gQ?ﬁf1 !ig
~ ?-3 2 - $36b Tl 4%
07 1 TH b3 3 5 7

26 Nelson Math Focus 4 L% Copyright © 2008 by Nelson Education Ltd.
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Subtracting in a Different Way

@ Use regrouping to make subtraction easier. -

1. Finish each subtraction. At-Home Help

1 -g 99 <1 If the top numberin a
subtraction has many zeroes,
_ 555 ,I 345‘ you can regroup in 1 step.
344 1999 +1
e
b) 2 — 755
999+4 1244 + 1 =1245
3003 23b€ |
— B35 The answer is reasonable

e because 2000 — 800 = 1200
NS fﬁ'”' ™ and 1245 is close to 1200.

C) 4899:2
5991*‘1, 3139
—1872

31272

2 Estimate each difference. Then subtract.
Show your work.

.13@%? 1999 6
_mi. - 41 SRR )

Mﬂrb [37¢ 192 *
prl 193 4
~1235 \L@ ) — 411 753&1 —134? \)/ '3&5‘9
737 -;533,*#

a) 8000 — 178 = 7822

b) 3000 — 488 = 2812 *
| é‘l‘g‘t . IR > %‘fﬁ%ﬂ

- 18

‘ Addition and Subtraction 37
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__ 7.10 Estimating Decimal Sums and Differences Page 1 /K
L Student Book poges 240-242 E\{

Estimate sums and differences with decimal tenths
and hundredths.

Checking
What I Spent
1. Estimate how much money Ethan spent this week. _ ThisWeek
| Monday:  $7.45
Step 1: Estimate the amount Ethan spent each day. Wednesday: 35_2 5
On Monday, Ethan spent about § __/ ¢ OQ Saturday: $ ].T,.,ﬁS

On Wednesday, Ethan spent about $ (Q ¢

On Saturday, Ethan spent about $ _LQ_O_D_ _H/ OO

Step 2: Add your estimates. + ’ O O
b 700.5600.¢ /200-sg5.00 —F2_—

Ethan spent cbout $ 95 this week.

2. Ethan had $26'89 to start. . he k.

Estimate how much money Ethan has left.
- 27.00
~ 500

Step 2: Subtract your total estimate from question 1 from $26. Etj? :# (_)
7 O

52689 -5 0500 =g | «89 26 . gq
S =325.00_
Ethan has about $ f . %CT

# abou J left. ?I Hg Cf

Step 1: Ethan had about $,Q7 Oj:) to start.
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@ Name;

Date:

7.10 Estimating Decimal Sums and Differences Poge 2

!

Practisin |
9 Penny’s Pitas
3. Jade ordered a pita and soup from Penny's Pitas. 59? Yogurf §1.29
a) Estimate the cost of Jade's order. QY e s
Juice §1.25

5. 3-00 +3_1.00 isabout$_4.00 . ‘ C
P S0 @ Mik § 039

b) Gen ordered yoguri.

Yogurt costs about $ } L 0O &= 9;'”
About how much more money did Jade spe @ m § 185

than Gen? $ ‘L} OO -

[, 00

How do you know?

3-00

—

;@a&u—mﬁ
Wi&’?

ollaxX @ ount

e T coundud 1o the closesr "ﬁ”’?

Milk:

"ﬂ'_""—'
1735 @
4. Michael has $;_15ﬂ to spend on food from Penny’s Pitas.
He wants to buy soup, milk, and a pita.
Does Michael have enough money?
Actual
Step 1: Estimate the cost of each item. .2_ 42
[, 00

Soup: ga? is about $ : ] 29

0)89 is about $ /.00 15\ 29

@zsmmn_sSDD

Step 2: Add your estimates.

$/~QQ + 8§ i{‘@ +$. 5 00 isabout$ SOO

Does Michael have enough money? N

How do you know?

7503

s 00

<

MQ mmd@d {;md ne Jjas ovex

and ho hod less Haonm 9 © Spund.
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3.10 Communicating about Number Concepts and Procedures Page !

Student Book poges 9435 ' AA
C \ g char D10
1 Explain your thinking when estimating a sum or diﬁerenca.j

Checking

1. The circus had 6000 tickets to sell.
« It sold 1631 adult fickets. | | @5
« It sold 3712 children's fickets.
How many fickets are left?

S ——

Step 1: Estimate how many adult tickets were sold.
(Circlg)the closer hundred: @ 1631 1700

Step 2: Estimate how many children’s tickets were sold. @I ’D\
ﬁ Circid)the closer hundred: (3700 ) 3712 3800
11
Sfep 3: Add your estimates. | boo
/ 37100
1660 + 3Jo6- 5300 Qc?\
adult children's tickets sold
;5 9 ‘7 ﬁ + |
Step 4: Subtract.
"'5 3 EJJ
6000 — 5 200 =_"100 - ,
tickets sold fickets left (aCTCﬁ T Il
Is your estimate reasonable? .i@
How do you know? Use the Communication Checklist fo explain. Carg:-lu;;?ahm
(| ) 779 +\ hecklist
v’ Did you show the
“\'3 Z I g _53"{' 3 T~ right amount of

A Sxg3 CELTT (o5 T deteif

v/ Did you explain

A;d:\.m.&_\!_gé LSS 33/ —Y 72O your thinking?
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3.10 Communicating about Number Concepts and Procedures page 2

Practising

2. Bryan scored 2815 points in level 1 of a video game.
He scored 3947 points in level 2.
He needs to reach 7500 points.
How many points does he need to score in level 3?

Step 1: Estimate. Show your steps.

/’ N
Step 2: Calculate. Show your steps.
4 )

\_ Y,

How do you know your answer is reasonable?
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o Name: Date:

3.10 Communicating about Number Concepis and Procedures Page 1
Student Book pages 94-95

Explain your thinking when estimating a sum or
difference.

Problem

Joshua is selling tickets for the school play.

He started with 200 tickets.

He has sold 148 tickets.

Joshua estimates that there are about 50 tickets left.

e Is Joshua's estimate reasonable?

Estimate 200 — 148.

Step 1: Round 148 to the closest ten.

Step 2: Subtract that number from 200.

Show your work.
a N
- J

Is Joshua's estimate reasonable?

Explain your thinking.
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3.10 Communicating about Number Concepts and Procedures Page 2

R ﬂ I. - _H"'

Check your answer using the Communication Checklist.

Communication

How could you improve your answer? Chocklist &

¢’ Did you show the
right amount of
detail?

v’ Did you explain
your thinking?
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Name: Date:

= Communicating about Number
31(0) Concepts and Procedures

Explain your thinking when estimating a sum nrJ

difference.
1. The chart shows the number of people in 3 At-Home Help
towns. Jade calculated that the total number of : B
le is 7500. Is her answer reasonable? Explain You can estimate to check
people : . P * | whether an answer is
Town Number of people reasonable or not.
Willowbrook 1497 Communication Checklist
Argent 3140 v Did you show the right
Ereeman 2073 amount of detail?
v Did you explain your
thinking?
\_ J

C

2. Add or subtract,

a) 2000 c) 6865 e) 3062
— 399 + 1437 1086

+ 421

b) 4971 d) 1005 f) 5000
— 735 — 205 - 267

3. Explain how you know your answer to part f) of Question 2 is reasonable.

r
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Date:

Test Yourself
Circle the correct answer.
1. Estimate 398 + 403.
A. about 800 B. about 700 C. about 900 ‘D. about 600

2. Estimate 498 + 1015 + 2499,
A. about 3000 B. about 3500 C. about4000 D. about 4500

3. Calculate 1630 + 321.
A. 4631 B. 1951 C. 1621 D. 1930

4. Calculate 2518 + 105 + 3245.
A. 5855 B. 5813 C. 5868 D. 5788
5. At the school fair, Tien earned 2504 points, Cole earned 1013 points,

and Emily earned 2995 points. If they add their points together,
about how many points do they have?

A. about 5000 points C. about 8000 points
B. about 6500 points D. about 9500 points

6. Estimate 2989 — 1015.
A. about 2500 B. about 1500 C. about 3000 D. about 2000

7. Calculate 3000 — 496.
A. 2504 B. 2604 C. 3496 D. 2696

8. Calculate 5893 — 641.
A. 5841 B. 5252 C. 4852 D. 5351

9, Calculate 6000 — 1432.
A. 5578 B. 4668 C. 5678 D. 4568
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[ ?w@mmwmwﬁ{mﬁmmg) @
5511-.&,0_ Q90+ |

h} 1000 - 4 = 50 =50
f.ﬂ. ot mﬁf % -
cjﬁm 1 5& 25
= 300 495 t’ﬁ
:I}SOOG 1999 = Q0] Fg__'__o\*&..
3000 = Hoocd= 1000+ @

&Em.mm.smmrm
a) 3286 - 257 isabout 3°C T The exact answer is 309

3000= 300z KRTOO 3;}-%%':9
2200 7 300= 30g0 - 257
20 2 J

b) 5471 - 841isabout 4ACO MExactmm zﬂ:,:}@ -g
500 - FO0O0= {4700 -, \

O, ~ 400 = Yoo -
| ¢) 7421 - 480 isabout ([ 5o . The answer is ff}‘?&:{
"7‘1‘(:@—505— 900 bﬁ\»i\

00 Q 500 * 200
.é... .L
d) 8822 - 1162isabout XCOC The exact answer is 7(,(,()
3200 = 1200= TeOQ 3939,

2 1o - “ﬂGE‘*.’ gﬂs‘:f_- "~ lea.»

lan plans to read 2000 pages this year. So far, fie mmﬁliw;:m How many
more pages does he need to read? Use the subtracting by renaming strategy. e
1999 + |
=acSion
_5 054 T4 pages
S5 + 17
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